F1: (Trigonometric lolentities)

cosx—cotx . . .
——— " jsidentical to
1-sinx

A) tan x
Trigonometric

B) cotx Identities.

C) —tanx
D)0
E) —cotx

cos @ +1+sin0 _
1+ sin8 cosf

A) 2secf

Trigonometric
B) 2csc O Identities.
C) 2cos 8
D) 2sin 6
E) 2cotf

Which one of the following statements is TRUE?

A) tan? x = sin? xtan? x + sin? x
B) tan?x = 1 + sec®x Trigonometric
C) tan®x = (secx + 1)? dentities,
D) tan?x = 1 — cot? x

sin? x

E) tan?x = —
sin“ x—1




If A =In(sec?x) —In(tan®x), thene4 — 1 =

A) cot? x
B) sec? x
C) cos? x
D) 0
E) 1

Trigonometric
Identities.

CcosXx

The expression — tan x simplifies to

1-sinx

A) secx
B) —secx
C) cscx
D) —cscx

E) 2tan x

Trigonometric
Identities.

ln(esinzxecoszx) —

A) 1
B) 0
C) esecx
D) eCSC.X

E) 2cos x + 2sinx

Trigonometric
Identities.




If A = 3sin? a + 3cos? @ and B = 4cot? a — 4csc? a, then A+ B =

A) -1
B) 0
C)7
D) 1
E) -7

Trigonometric
Identities.

. tan®x . . .
Th expression ——— is identical to
1+secx

) 1—cosx
Cosx

1—-cosx
)

sinx

1-sinx
)

sinx

D) 1+cosx

Cosx

1+sinx
)

sinx

Trigonometric
Identities.

If (tan x+cot x)?

: _ = sec™ xcsc™ x,thenm +n =
sin? x—sin% x

A) 8
B) 6
C) 4
D) 10
E) 12

Trigonometric
Identities.




cotf—tan @
sin Bcos 6

is identical to:

A) csc? 0 —sec? 0

B) sec? 8 — csc? 8

C) 1 —sec?6
D) sec8 + csc
E) 1 —csc?6

Trigonometric
Identities.

fr<0 <37n,thencosl9 =

A) __cot6v 1+cot2 6
1+cot2 6

B) cott9\/1+§0t2 4 Trigonometric

1+cot? 6 Identities.
C) —V1 + cot?8
D) V1+cot? 0

1+cot? 6

E) _ Vi1+cot2 0

1+cot2 0
1+ cot? 8
1—ocsc2f
A) —sec? 6

, Trigonometric
B) sec 6 — 2 Identities.
C) —csc? 6
D) csc?8 — 2

E) —csc? 6 —sec? 0




. 1 1 . .
The expression — simplifies to
1+cscx 1+csc(—x)

A) 2sin xsec? x
B) 0

C) —2sin xsec? x
D) —2tan? x

E) 2

Trigonometric
Identities.

secx+cscx

= asinx + bcosx,thena + b =
tanx+cotx

A) 2
B) 1
C)3
D) 4
E)0

Trigonometric
Identities.

tanf + — =
sec@ + tan 6

A) sect

B) cos 6
C)1+sin6
D)1

E) sin6

Trigonometric
Identities.




(sin® x)(1 + cotx) + (cos? x)(1 — tanx) + cot? x =

A) csc? x
B) sec? x
C) tan? x
D) cot? x

E) cos? x

Trigonometric
Identities.

tan®(—x) — sin®(—x) — cos?(x) =

A) —1 + tan® x
B) sec? x

C) 1+ cot?x
D) csc? x

E) sin? x — cos? x

Trigonometric
Identities.

(cotx —cscx)? =

1—cosx
)

1+cosx

1+cosx
)

1—cosx

) cosx—sinx

1+cosx
sinx
) 1-cosx
) cosx

1+cosx

Trigonometric
Identities.




t —cotx - . .
NX Y is identical to

tan x+cotx
A) 1 — 2cos?x
B) 1 —tan?x
C) 1+ sec?x
D) 1 + 2sin? x
E) 1+ 2cos?x

Trigonometric
Identities.

Which one of the following statements is TRUE?

A)sinx=m, if0<x<m.
B) cscx = V1 + cotZx

C) Vcos2 x = cos x is an identity.

D) sin3 x = sinx(1 + cos? x)

E) cos*x + 1 = (cos? x — 1)(cos?x + 1)

Trigonometric
Identities.

sin® 0 + cos® 0 + sinBcos? O + sin? Gcos O =
A) sinf + cos 6

B) sin6 — cos @

C) cos8 —sinf

D) 2(sin 6 + cos 9)

E) 2sin Ocos O

Trigonometric
Identities.

sec? x — 2secxtanx + tan? x =

1-sinx
)

1+sinx

B) 1+sinx

1-sinx

) 1+tanx
1-tanx

) 1—cosx
1+cosx

1+cosx
E)
1—-cosx

Trigonometric
Identities.




If cscO = xTH,x > 0, then cot@ =

)

B)

c) iz

D) @
E) -

Trigonometric
Identities.

If (tan x sin x)? = Atan? x + Bsin? x is an identity, then A + B =

A) 0
B) -2
C)2
D) 1
E) -1

Trigonometric
Identities.

2csc? x — 2cscxcotx — 1 =

1—cosx
)

1+cosx

1+cosx
B)
1-cosx

) 1-sinx
1+cosx

1+sinx
D)
1—-cosx

) cosx—1
sinx+1

Trigonometric
Identities.




(sinf + csc0)? + (cos O + secH)? —tan? 6 — cot? H =

A)7
B) 3
C)5
D)0
E)1

Trigonometric
Identities.

2tan xcos? x — tanx

1 —tan?x

A) sin xcos x
B) cos? x

C) —cotxsin? x
D) cotxsin? x

E) —sec xcsc? x

Trigonometric
Identities.

2257T_ 5 o _
tan —3 sec*60°+1 =

A) 0

E) 2

Trigonometric
Identities.




(csc?x)(1 + cosx)? =

secxcscx+1
) secxcscx—1

secx+cscx
) secx—Ccscx

secx+1
)

secx—1
1

secx—1

D)

E) secx+1

secx

Trigonometric
Identities.

cot? @ 3
1+4csch

A) cos 8 —sinf

1+cos 6
)

sin 0

) 1+siné
sin @

1-sin@
D
) sin 6

1-cosf
)

cos 6

Trigonometric
Identities.

sinx(tanx + 1) — 2tan xcos x

sinx — cos x

A) —tanx
B) tan x
C) secx
D) —secx

E) sinx

Trigonometric
Identities.




1 1
14+cosx 1—cosx

A) —2cotxcscx
B) 2tan xcscx
C) 2tan xsecx
D) —2cotxsecx
E)-2

Trigonometric
Identities.

tx+ . .
2T simplifies to:

sin x+tanx

A) cscxcotx
B) sin xtan x
C) sin xcos x
D) sec? xtan x

E) sin xsec? x

Trigonometric
Identities.

2secBcsc O — 2tan Ocsc O _

(secfd —tan6)? + 1

A) cotf

B) tan 6

C) 2sec6

D) 2cscf

E) 2sec ftan 0

Trigonometric
Identities.




tan? x(1 + cot?x) =

1
1-sin2 x

A)
1
B) 1-cos?x

C) csc?x

D) —sec? x

E) —csc?x

Trigonometric
Identities.

When simplified, the expression (2sinx + cos x)? + (2cosx —sinx)? — 5 is

equal

A)0

B) -5

01

D) 8sin xcos x

E) 3sin?x + 5cos?x — 5

Trigonometric
Identities.

—— sino0 5
The expression ——— 4+ —— simplifies to:
1-cotf 1-tan@

A) sinf + cos 0
B) sinf — cos 6
1

C) sinf—cos @
D) cos 6 — sin 8
E)

1
cosf—sinf

Trigonometric
Identities.




cosx—cotx

. is identical to
1-sinx

A) tan x
B) cotx
C) —tanx
D)0

E) —cotx

Trigonometric
Identities.

The expression (sin 8 — cos 8)(csc 8 + sec 8) simplifies to
A) tan 8 — cot 6

B) secd —tan 6

C) cscOcot b

D)1

E)O

Trigonometric
Identities.

sin3 6 cos3 0

1—-cosf 1-sin@

(@) sin@ — cos @
(b) sin Bcos 6

Trigonometric

(C) sin @ + cos 6 Identities.
(d) 2sin 8
(e) 2cos B
Which one of the following statements is FALSE?
A) sec (g + x) = cscx
B) tan (x — —) = —cotx
P Co-function
C) sin (E T x) = cosx Identities.




B)%
V3

0 -2

D)?

V2
E) -

Co-function
Identities.

If sec(6 + 10°) = csc(20 — 40°), then one value of 9 is:

A) 40°
B) 20°
C) 30°
D) 50°

140°
E) =

Co-function
Identities.

A value of angle 6 that makes csc(36 — 15°) = sec(20 + 25°) true is

A) 16°
B) 15°
C) 20°
D) 26°
E) 10°

Co-function
Identities.




